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(1) 35*A 2 (wave equation)




T cost, = T,cost, =T

(1)

2

. . 0
Tysinf, — 7,sinf, = p Av—2 =ma (2)

ot’
T T = o] =
(DollM Ty =——F, 1, = ojmg olE (2)d "YstH
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(2) € 9A Al (heat equation)

P

P P (x+Ax,1)

/[ x+Ax

P(x,1) X
A= "W 2l (heat conduction equation); 1xFY, (WFofe]) ¥
o2 do] mAYrIA] &1 4 "dHS “5@']17\1”} g}, 19

P ; heat flow (P>0; in P<0; out)

- sign; heat flow from hot to cold

Kk @FEE



87 i
—=0 ; no heat flow (constant temperature region)

ox
P S
dQ)=mcdJ o me
d@
m = pAAx, E:P(x,t)—P(x-l-Aa:,t) (2)
mCQZpAASECﬂ _ a9 (3)

4 20 4 18 Agau

d 0J(x,t o (x+ Az, t

4Q__ q23wt) 03t Ant) (4)

dt ot ot

A 30] 4 4% ol g3kw

ﬁ_i ‘m 1 8’5(x+Ax,t)_ 03 (z,t) _i82’5

ot pc ap o Ax ox ox pC §r2
o3 8%3

. —=n—5, 1n; thermal diffusivity
8t axz

; Q(x,t); heat generated / volume-time

R>0; & &7, Q<0; & W=



(3) Poisson Equation, Laplace Equation

() AA71%e] 45

=L Gauss Law
€

!

AVAR)

!

V X E =0 : Electrostatics — £ =—V VIV ; potential : V

V o E:—v ° vv:ﬁ
€

v V:—eﬁ . Poisson Equation
0

p=0¢ A% v?IV=0 : Laplace Equation

(b) =x9 HHIH

Heat equation®] A &X9] Al7te] W& W3y} glow
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22+ hot plate

g YgolA X BE 2=wstE 73 I(xy)

II. 7] ¥ AAZxA

(a) 27)Z%7A(initial condition)

-Ho] A%
= = =] 2 1 623/
A Zbel W& 22 B (Vv ’y:——2) ;
v° ot
T e 27le]l o
y(x,0) = f(x)
oY
Ehzozg(ﬂ?)
—heat equation
8%7

} A
Aol e 1Ay (2=
17kl 12} v (675 s

T(x,0) = f(z) : A W& £xo B¥



(b) A A ZZA(boundary condition)

—heat equation

(1) Dirichlet conditions (prescribed temperature)

0,t)=g,(t) ; AAAANA &%

(i1)) Neumann conditions (prescribed heat flux)

oJ

_“gbzo =1,(t) ; heat flow at boundaries
oJ
_HJ£|$:L :7/}2(15)

o] 2o 2bd W<(insulated)e] H& A9 AAZXA

—|:r=0:07 =0

oz Py
(iii) Newton's law of cooling (Robins condition)

=278 o2 WAGA, 7D T e

w22, Ly = h[3(0.) g, 1)



(iv) Periodic boundary condition

J(—Lt)=3(Lt)
0J 07

or x=—17L - %lx:L
III. ¥4 2] (separation of variables)

y(x,t) = X(x) T(t) ; ordinary differential equation®. = %13}

9
o7y oy

Ex) 2Y— 4%
X) o p”

y(z,t) = X(z) T(¢) 3l T

X' T=4XT'

=" =)\ ; A= 2g4 (separation constant)

SXTHANX=0, T"+XT=0 ; 5 /M9 ordinary "EA 20z A3



A; zero, positive, negative
i) A=021 3%

X"=0, T"=0
— X=c tcx, T=cy

sy (@) = (¢ +eyr)ey = Az + B
(i) A=—a’ 4% (A <0,a>0)

X" —40*X=0, T'—a*T=0

2

— X =c,cosh2az+c;sinh2ax, T=cge™’

. o’t
o yyy () = (¢, cosh 2acx + c;sinh 2a:c)c6e

— A,¢""cosh2az + Bye" 'sinh 20z
(i) A=a? A (A>0,a>0)

X" +40*°X=0, T'+a*T=0

ot

— X=c,cos2ax+cgsin2ax, T=cye
o’t

y3(m,t) = (07 cos2ax + cg Sin 204x)686_

A2 2,
= Ase “'cos2ax+ Bye “'sin 2ax

HFH9 A FH Qe o)



XT'=kX"T
FHE XT= UrH

X”_l ]7/__A
X k T

S XTHAX=0, T =—r\T < X(0)=X(L)=0, 700) = f(2)
(i) A=0¢ AS

X"=0, T'=0

— X=c tcx, T=cy

AAZAANA X(0)=¢, =0, X(L) =c,L=0

X(z)=07} |22 2/427 2 5 i
(i) A<09l A%

X"+ XMX=0



— X=cycosh v—Ax+c¢, sinh v—Az
AAZANA X(0) =¢, =0, X(L) = c,sinh V=X L=0—>¢, =0
(e —e ™ 20 ¢, =0)

X(z)=07}) H=22 3/5X7F 2 4 Qo
(iii) A>09 AS

X"+AX=0
— X=c.cos VAz+egsin VA
AAZANA X(0)=¢, =0, X(L)=c,sin VA L=0

L\/X:nﬂﬁAn:(n—; in=1,2,
nmx
X = —
(x) =sin 7
Wb mA Sl LRI
nm \? nmwx
)\n:(T) Xn(a:): Sll’lT n:1,2,3,
Al kel ek e
—x HEZt
T':Fa)\nT—>T(t):ce A”'t:ce (L)
~ . nmx —ﬁ("f)t
Jn(x,t):X(a:)T(t):anm e n=1,2,3,

FHA o3



j(xat) - Z Yn — ZB”SiH — eh(f)t n— 17 27 37

o] = 27)FAE wEEo]of d) 3(2,0) = f(x)

n=1 L
L nmIr mmxr O mzn
/ sin sin dr=14 L . < °]&3std
0 L L E m=n
2 L )
B, = 0 f(z)sin n—zxd:c (2)

exl) f(x)= GSIHE?J 749

L
-1/,

. NTx
GSm—)Sdex =6; n=12 ZA¢v A&

N EAY
ﬁ(x,t)ZGSinW—[gje (L) ; 8ol t=0

. 9z .
ex?2) f(a:)—12smT 7sin 7

(D)



919} el wRIEA ] Adtel ojshd By =12,B,=—7, °| 9¢|
A AgE 2% 0o] Hrh

or |\ 47 \?
. —k|l— |t 4 —kl—t
Iwt) = 12sin 2% ¢ (L) —7sin =% ¢ (L) L 59l t=0
L L
ex3) f(z)=20%1 7%
201 L
/ QOsm—d:v—f[ cosnzx )
_ lzoL(l—cosm)]: 40[1—(—1)"]
L nm nm
N - 40[1—(—1)”] . nTx _”(%ﬂ)?f
J(x, )—nz]l — sin——e¢
y
x=0 x=L
83 8%
Ex2) Pl heat equation (F5F&o] &@¢d% F9)
ox



XT ' =xX"T
IHeS X7= UFrd
X// 1 T/
—_ — :_)\
X k T
" , dX dX
X'+ AX=0, T =—KATe%(0):0, %(L)zo, 700) = f(z)
(1) A=09%] A%
X"=0
— X=c tcx
dX
%ﬁ]}_ﬁoﬂjﬂ %(O)ZCQZOH.'.XZQ
dX —
%(L):O (W)
A A=0% X7 2 F Y IadTe X=128 =
T U

(i) A<02l A% (A=—a?

X"—a’X=0

— X =cycoshazx+c¢,sinh ax



B Az ol A %(0)20404:0, ¢y, =0, — X=c;coshax
X :
d—(L) = acgsinhal =0
dx

webA A<0]l B aFA7F 2 5 o

(i) A>02 FAF A=da?)

X"+a’X=0

— X=c¢;cosax+cgsinax

dX
7 A 271 ol A %(0) =cev =0, .cg =0 > X= ¢;cosax
dXx :
—— (L) =csasinal=0
dx

M=\ X,(@)=cos——  n=123
Ao w =
A =0 X, =1 n=0
An:(n—g)Q X, (z) = cosn—zx n=1,2,3, -



T = K\, T — T(t) = Ce—mnt _ Ce_H(T)t

wERA sl =

jn (:C7t) — AnCOS

3(et) = 39, = P A,c08 e ) n=0,1,2,3, - (1)

n=0
L nmx mmrx 0 m#n
cos oS de =1 L !
0 L 7 5 m=n
L
0
1 L
— [ flz)da n=0
— L 0
A 2 [* nmr (2)
Z 0 f($> COSTde n =0



Ex3) —=k—— ; heat equation (periodic condition, €3

perfectly thermal

contact

X"+ ANX=0, T ' =r)\T

X=X, 10) = 1)

—X(—71)=X(L), o



(i) A=0¢% A%

XI/:O
— X=c, tcyx

AAZAANN X(—L)=X(L)—>c,—c,L=c,+c,L ~.c; =0

(i) A<08l A9 (A=—0a?)

X"—a’X=0

— X=cycoshazx+c,sinh ax

AAZA; X(—1L)=X(L) A
cycosh|a(— L) +¢,sinh[a(— L)] = ¢;cosha L+, sinha L

— .¢; =0

kAl X(x) = cycosh aw©| .

dX dX
D=

BAEA; (L)l A

Cy 00 sinh[a(— 1)) = c;asinhal — .c; =0

Wb A <09 A= ZFA7F E 5 gl

(i) A>02 F% A=da?)



X"+a’X=0

— X=c¢;cosax+cgsinax

AAZA; X(—L)=X(L) ol A

cscosla(— L) +¢gsin[a(— L)] = escosa L+ ¢ sina L

—2cqa sSinaL =0 (1)
dX dX
AAZA; %(—L) — %(L)OM
—c;a sin la(—L)]+ Cq0 COS (= L) =— c;asinal +cgacosal
— 2casinal =0 (2)

21 13 294 sinaL# 00| ¢, =0,¢, =0 (X=00]2= E7})

2
nim nma
= — = - f— 71727 , v
A, (L) X (x)= cos 7 n=>0 3
2
A, = ”—; Xn(a:):sinn—zx n=0,1,2,3, -



T,:li)\nT — T(t)=ce " =ce

weba o

LA
nrx ~RTg
e

3, (x,t) = A4, cos

L
3, (x,t) = B, sin nzx e_n("_;)

1 L
A, = o7 /Lf(x)dx

olil B & EASHA &E

n=0% A5

n=0,1,2,3, ---

(2-1)



nmx

A, L/ flax cos—dx n=1,2,3,-- (2-2)

B, L/f sinwdx n=1,2,3,---

vy

A 2-1% 2-28 2] 19 giishd 3

jﬁ

Z79) 87} .

2 2
0 1 0 . . .
Ex4) 8—22—2—; , vibrating string (5 3114)
r© v

y(z,0) = f(z), Zi —o=g(x) 3 271Z27

y(0,t) =0, y(Lt)=0 ; BAAZA (FH 14)
y(a,t) = X(z) T(t) S thd3ha

XT"=vX"T



S X"+ MX=0 < X(0)=0,X(L)=0
T +ANT=0<T170)=f(z), 7°(0) = g(z)

(i) A=0% A%

X"=0

— X=c, tcyx

AAZANA X(0)=c,=0— " X=cux
X(L)=ec,L=0—..¢,=0

et A=0% ZFA7F 2 5 gt
(i) A<02l A$ (A=—a?

X"—a’X=0

— X=cycoshazx+c¢,sinh ax

AAzAANA X(0)=c;=0 — X=c,sinhax
X(L) = acysinhal #0

kAl A<0]l A= A7 E 7 Sk
(i) A>081 A5 (A=a")

X"+’ X=0
— X=c¢;cosax+cgsinax

A

(¢]

Alz704 Xx(0) =c; =0, ..c; =0 — X(z) = CcgSIno
X(L) =cgsinal=0



2
'.-aL:']’L’]T—))\:(—) n:172’-.

web] m{A S} a{PRE

2
nn . nmx

A, = (7) X, (z) = Sin —— n=1,2,3, -

Akl o e
144 t ) t

TN, T — = 1) = djcos—— +dysin =
weba] dwukss 23 Qo] o)
y(at) =Dy, = | A4, cos——+ B,sin—— | sin—— (1)

n=1 n=1 / L L I3
n=1,2,3,

2 [* nmx
Anzz Of(CU)Sll’l—dgj
L nmwxr mnx L
& [ sin sin dr=—form=n



Y [ nmv . nmut nmu nmut | . N
—= —A sin +B COS sin

t =0 "L L "L L L
oy o B, g
—l_y = sin =
op =0 g% 7 —=9(@)

y(z,t) =y, (2, t) +y, (@,t) +--NA] ZF2be] A7

:

nmut

y, (z,t) = C}Lsm( 7 + ¢,

sinn—zxi Tol X}

A B A
A7 C =+ A+ B, sing, o cosp,, o0 tang,, B
. [ nmut o R o - .
183 sin 7 +¢, | Al mel M= M E(time varying
. . nﬂ-x O . =] ‘d_
amplitude)©| 3l sin—— < standing wave©l 3|3},

L




Overtune; f, =

Ex5) Laplace equation (hot plate; 3

2L

\/g

o

&

0<z<a, 0<y<b

I=
b f(x)
o o
4 A
I=0 X=a
x=0
8:T  8°:T
2 + 2 0
ox oy

£| oT

o 00 gl

)



X"+ AX=0 X'(0)=0, X' (a)=0
Y’ —=AY=0 Y{(z,0) =0, Y(x,b)zf(x)

X'+ XX=009x AAZA; X' (0)=0, X' (a)=0)
(i) A=021 A%

X”:O

— X=c, tcx

AAZAAN X'(0)=c, =0
X(z)=c¢, »X'(a)=0 (& =)

Wehd A=0E THAT B 5 Atk LEFSFE X=12

() A<02l A9 (A=—a?

X"—a’X=0

— X =cycoshazx+c¢,sinh ax

AAZ; X'(0)=c,acoshal =0

webA] A <09l A= A7 E 7 S



(i) A>02 A% A=da?)

X "+a’X=0

— X=c¢;cosax+cgsinax

AAZEA; X'(0)=c;=0— .. X(z) = ¢, cosax

X' (a) =c,asinaa =0 — ..aa=n7

2
:&;{fﬂ n=1,2,
a
S A TR s S K T B ST e
ni 2 nma
A, = (—) X (x)= cos
a a
2
Y~ AY=0 oA a;{%f)é%mﬁa@
TL27T2
Y// . > Y= 0 7]— %]ﬁ'—
a

(i) A=02 A%

Y"=0

— Y=c,+cy

BAZAANA ¥(0)=c; =0
Y{y) =cgy

n=20,1,2,3, ---



(i) A>09 A

nim . ni
Y= cycosh LULLA cypSinh Y
a a

SEEY=A+Be ¥ - Y(0)=0—>A=-B—Y~=sinhkz

1, = A,y n=>0
1, = A,sinh " cos 2 n=1,2,
a a

Nxy) =Y, T, =Ay+ Y, A sinh Y cos—E
n=0

n=1 a a

oA et AAZA T(2,b) = flz)E ©]-&3HH

T(wb) = f(2) = Ap+ 3 A sinh 7™ cos "™~
n=1

a a



n=0A+= /f dx—/Abdacé LA, = ab/f

n=0% 745 "e05 ™ 005 e — & form = nol) A
0 a a 2
b 2 a
Ansmhﬂ:— flz )coswdx
’ a aJ,
— LA, = / flx coswdx
mrb

}J=0 (grounded)

insulated strip

V=0



+—=0 O<ax<oo, O<y<m

V/—0 as z—

Vzy) = X(2) Y(y)S d9)std
XY '=X"Y

FHE Xv= el

X'4AX=0  X(0)=1V,(y), X(c0) =0
Y= A\Y=0 Y(0)=0, Y(x)=0

o] ool - Agkell didl o7 A E A= & Fart gl
X(c0) =07} Hojok 3l Z7AA X(z)E e o] do] -3},
T3 Y(y)= y=0°14 0°] Eojok FER singF7t Hojok gt
t}, wejr] A=—qa’o] Hojof it}



— X=c, " +cye

X(0) =09] Z271& RFEAI717] SEA = ¢ =07} Hook

StE2 X(x)=c,e ™

() Y= AY=09] A\=—a® & 34

V" +a’Y=0—Y=c,cosay+c,sinay

AAZA;¥(0)=0, Y(r)=0
Y(0) = c;=0— .. Y(y) = c,Sinax
Y

7r):c4sincm:0—>om:n7r SJa=n n=1,2,--

a=n=0% X(x)=ce “=c7} Ho] z=00

A AAxHS 5D ¢ gloens S B

Waz,y) = ZA e "sinny (1)

A AR V=1 (y)l,_ 5 ol&std

1(0,y) =Y A, sinny= V,(y)

n=1



/

V(O,y)sinkydy =
0

ZAnf e "“sinny sinkydy°l 4] sin<]
n=1 0

. 0 k#n
Zal A / sinkysinnydy{z k:ne o]-&3tH
2

== [ Vi(y)sinnydy (2)
T J g

4 2% 19 W@ Aol Azt Ak,

Ex) z=00°] potential®] ¥, metal plateg AF&3 49
Vol,_o= V7t Btk =, y=09 y=nrl A& grounded plate
Atoldl potential V,%1 A B

r=00°] 7] F-Fo|t}.

2] 261 A
2V, %
A =— smnydy:—(l—cosmr)
s 0 nm
0 n: AT
S L
nm

web] A 164

4V, &

V(x,y) - Z

n= ]_737...

1 i
—e "sinny
n



VIVg




Ex7) Laplace equation (Electric potential #2, 2x})

+ =0 —a<zr<a, O<y<m



X"+ AX=0 X (—a)=V, X(a) =V,
Y =AY=0 Y(0) =0, Y(r)=0

o] oo Ag-olx Agtel sl oJe] 7HAE A=E 2 287 gl
ok Y(0) =07} HoloF st ZAAA Yy si
e}, wEha] A=—a’o] Eojo Fr},

=

ok
al
~
)
3
o

X(—a)=X(a)=VolB2 F¢= gl Hojof v webs

G5 ¢ =c7h Holok B
X(z) = ¢y coshax

b

ol

(i) Y= AYV=0° A\=—0a° & <

YV'+a’Y=0->Y= ¢, Cosay +c; sinay

=
2
I
e
@,
=
Q
3
I
o
e
3
I
3
3
e
|
3
3
I
=
N



=V =X(x) Y(y) = A, coshnz sinny

V(x,y) = Y, A, coshnz sinny

n=1

AS AR f18 AAEA Viay) =
Va,y) = E A, coshna sinny =V
n=1
sindF4=2] 2] nl % 74 of A]
4 21 fﬂ S 21
e e sin e —
" mcoshna J M coshna
. [0 n: A
— 4% 5 =
coshna | — n: =T
nimw
% olg3iw
0 n: 23
4a=1th e
nmcoshna

2 22 19 g3l

(1 — COSmT)

(2)

(D



R

Ex8) Laplace equation (Electric potential #3, 3%})

> =
I
b}

- + = O<zr<oo, 0<y<mi0<z<m



at y=20

at y=m
at z=0

at z=m

I
o o o o o

at x = o

SN NN Y N

|
~

o Y, 2) at =0

Vix,y,2) = X(z) Y(y) Z(2)S tYdshaA
XY'Z+ X"YZ+XYZ" =0
kS XYZZ Urd

XU Yl/ Zl/
X + Y + 7 =0
XI/ Y/l Z/l

o714 X(0) =05 ®=Fat7] AT e o] glojof FrE
G, > 00tk 22]a ¥(0)=0, Z(0) =08 WF37] A= G, G



9 vlEwgAe) gL 2tz

X(z)= Ae\/k2+12x + Be™ VE+P
Y(y) = Csin ky+ Dcosky
Z(z) = Esinlz+ Fcoslz

AAZAE WEs]) YElAE A=0, D=0, F=00] = ojo} g},

wmaba

V,, (@,y,2) = Ay e VIE+E “sinkysinlz

(o]

Wz, y,2) = Z ZAM ¢ VEH gy ky sinlz (1)

=1

e

—
o~

A= AAs7] Sl BAZEA V0,y,2) = Vy(y,2) 5 o83k

110,y, 2 Z Z A, sinkysinlz = 1 (y,2)
k=11=1

¢}

o] AuzALS o)y Y& FWHo sinnysinmzE F
1=
RUN

™

ZZA f smkysmnydy/ sinlzsinmzdz
= 0

0

= V, (y,2) sin ny sin mzdydz

oft
-1



0

2\2 7 [T R
AM:(?> /of V, (y,2) sinky sin lzdydz

)

2 2% 19 digishd duks)rh e gl

Ex) V(Ovyvz): VE) (

= =00 = FS 7Y 9 A
0 n: A
A’“’_{li% n:E
ki
w2

i i e mxsin kysinlz
? K
oo l:1’37

(2)



